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Answer any FIVE questions. 
Each answer should not exceed 300 words. 

Each answer carries 7 marks. 
(5 × 7 = 35 Marks) 

1. A = {–3 , –1 , 0 , 4, 6, 8, 10}, B = {–1 ,–2, 3 , 4 , 5, 6 } kw;Wk; C = {–1 , 2 , 3 , 4 , 5 , 7 } 
Mfpatw;wpw;F )()()( CABACBA   vd;gij ep&gpj;J mjid ntd; 
glk; %yk; rhpghHf;fTk;. 

For A = {–3 , –1 , 0 , 4, 6, 8, 10}, B = {–1, –2, 3, 4, 5, 6 } and C = {–1 , 2 , 3 , 4 , 5 , 7 }  
Show that : 

)()()( CABACBA   and  verify using Venn diagram. 
 

2. xU ngUf;Fj; njhlH thpirapd; 4 MtJ cWg;G 2/3 kw;Wk; VohtJ cWg;G 
16/81 vdpy; me;j ngUf;Fj; njhlH thpiriaf; fhz;f. 

 The 4th term of a geometric sequence is 2/3 and the 7th term is 16/81. Find the geometric 
sequence. 

 
3. jPHf;f:  

       3        2         x               8 
                             = 
 4 5       y               13 
 

 Solve:        3      2    x                8 

         4       5         y        =     13  

4. A (7, 10), B (–2, 5), C (3, –4) Mfpa %d;W Gs;spfSk; xU nrq;Nfhz 
Kf;Nfhzj;jpd; Kidfshf mikAk; vd;gijf; fhl;Lf. 

 Show that the points A (7, 10), B (–2, 5), C (3, –4) are the vertices of a right angled 
triangle. 
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5. 434)( 23  xxaxxf , axxxg  4)( 3  Mfpa gy;YWg;Gf; Nfhitfis 3x  

My; tFf;Fk; NghJ fpilf;Fk; kPjp rkk; vdpy; ‘a’d; kjpg;igf; fhz;f.  NkYk; 

kPjpiaAk; fhz;f.  

If the polynomials 434)( 23  xxaxxf  and axxxg  4)( 3  leave the same 

remainders when divided by 3x , find the value of  a . Also find the remainder. 

 

6. fPo;fz;l gutypd; ruhrhpia gb tpyf;f Kiwapy; fhz;f. 

gphpT ,ilntsp 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 

epfo;ntz; 5 7 15 28 8 

Calculate the mean of the following distribution using step deviation method. 

Class interval 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 

Frequency 5 7 15 28 8 

 

7. xU jpz;k NeH tl;l cUisapd; mbg; gf;fg; gug;G kw;Wk; fd msT KiwNa 

13.86 r.nr.kP kw;Wk; 69.3 f.nr.kP vdpy;> mt;TUisapd; cauk; kw;Wk; tis 

gug;igf; fhz;f. (	ߨ = ଶଶ଻ ) 
Base area and volume of a solid right circular cylinder are 13.86 sq.cm, and 69.3 cu.cm 

respectively. Find its height and curved surface area. (Take 	ߨ = ଶଶ଻  ). 
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